



DELIVERY DUE DATE: 2 7 DEC 2024

**Procurement Unit** 

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

10/1/2024

TIN#:

Manufacturing

Date:

007-556-435-000 VAT Reg.

Mode of Procurement:

**Public Bidding** 

Tel. No.:

0917-542-0422

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of De	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	ivery:		Payment '	Гегт:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
8	bottle	BROMOCRESOL PURPLE, 25g; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from 0 date of purchase. After sales provision on certificate of extension of expiry date. (2024)		1,600.00	3,200.00
9	bottle	<b>BROMOTHYMOL BLUE,</b> 50 g; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	5,900.00	11,800.00
20	bottle	CHEMICAL REAGENT, Adipic acid, 100g reagent grade w/MSDS (2024) shelf life should be at least 3 years upon delivery	1	2,000.00	2,000.00
21	bottle	CHEMICAL REAGENT, a naphthol, 100g reagent grade w/MSDS (2024) shelf life should be at least 3 years upon delivery	1	1,500.00	1,500.00
25	bottle	CHEMICAL REAGENT, Benedict's Solution - 500mL with MSDS and 3-5 years expiry (2024) shelf life should be at least 3 years upon delivery	2	2,500.00	5,000.00
26	bottle	CHEMICAL REAGENT, Benzoic Acid 500g with MSDS and 3-5 years expiry (2024) shelf life should be at least 3 years upon delivery	2	1,200.00	2,400.00
		sub-total:			25,900.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

President

Authorized Officia

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address: Funds Available:

JASPER A. YAUDER, CPA

**Budget Officer** 

ALOBS No. : 07-106-41 1024-10-3297

Amount: 679. 702. N

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date : August 24, 2020

Very truly yours,

Page 1 of 12



DELIVERY DUE DATE: 2 7 DEC 2024

**Procurement Unit** 

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Mode of Procurement:

Public Bidding

Tel. No.:

0917-542-0422

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	ivery:	TARLAC STATE UNIVERSITY	Delivery Term:		60 calendar days
Date of Deli	very:		Payment '	Геrm:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
33	bottle	Balance Forwarded: CHEMICAL REAGENT, Calcium chloride, 500g reagent grade w/MSDS (2024) shelf life should be at least 3 years upon delivery	2	1,500.00	<b>25,900.00</b> 3,000.00
39	bottle	CHEMICAL REAGENT, Cyclohexane - Reagents- 500g-with MSDS and 3-5 years expiry (2024)	2	4,950.00	9,900.00
41	bottle	CHEMICAL REAGENT, DICHLORAN 18% GLYCEROL, AGAR-dehydrated; 500G per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	7,800.00	15,600.00
42	bottle	CHEMICAL REAGENT, CHEMICAL REAGENT, DICHLORAN ROSE BENGAL CHLORAMPENICOL AGAR; dehydrated, 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	9,000.00	18,000.00
		sub-total:			72,400.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

CHEMLINE SCIENTIFIC CORPORATIO

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A. YAUDER, CPA **Budget Officer** 

Revision No. 03

ALOBS No.: 12.286441 704.10. 9777

Amount:

DR. ARNOLD E. VEI

Authorized Official

679. 702.W

Very truly yours,

Effectivity Date : August 24, 2020 Page 2 of 12





**DELIVERY DUE DATE:** 

2 7 DEC 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

Tel. No.:

007-556-435-000 VAT Reg. 0917-542-0422

Mode of Procurement:

**Public Bidding** 

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term:		60 calendar days
Date of Deli	ivery:		Payment '	Term:	N/15
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
45	bottle	Balance Forwarded: CHEMICAL REAGENT, EGG YOLK TELLURITE EMULSION - 100 ml per vial; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	8	5,800.00	<b>72,400.00</b> 46,400.00
49	bottle	CHEMICAL REAGENT, Ethyl Alcohol 95%-2.5L, with MSDS and 3-5 years expiry (2024)	7	3,000.00	21,000.00
51	bottle	CHEMICAL REAGENT, ferrous sulfate, 250 g, reagent grade (2024) shelf life should be at least 3 years upon delivery	1	2,500.00	2,500.00
57	bottle	CHEMICAL REAGENT, GLACIAL ACETIC ACID-500 ML, with MSDS and 3-5 years expiry (2024)	12	2,100.00	25,200.00
62	bottle	CHEMICAL REAGENT, Indigo carmine, 25g reagent grade w/MSDS (2024) shelf life should be at least 3 years upon delivery	1	1,600.00	1,600.00
63	bottle	CHEMICAL REAGENT, lodine, solid 25g with MSDS and 3-5 years expiry (2024)	1	4,500.00	4,500.00
65	bottle	CHEMICAL REAGENT, Isatin, 100g reagent grade w/ MSDS (2024) shelf life should be at least 3 years upon delivery	1	6,500.00	6,500.00
		sub-total:			180,100.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A. YAUDER, CPA **Budget Officer** 

ALOBS No.: 02. Wedul www. no 3m?

Amount:

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date : August 24, 2020

Very truly yours,

Page 3 of 12







2 7 DEC 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

**DELIVERY DUE DATE:** 

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Tel. No.:

0917-542-0422

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Delivery:		TARLAC STATE UNIVERSITY	Delivery Term:		60 calendar days
Date of Deli	ivery:		Payment '	Гerm:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
70	bottle	Balance Forwarded: CHEMICAL REAGENT, magnesium sulfate heptahydrate, reagent grade, 500g bottle (2024) shelf life should be at least 3 years upon delivery	2	1,100.00	<b>180,100.00</b> 2,200.00
72	bottle	CHEMICAL REAGENT, MRS AGAR (De Man, Rogosa, Sharpe)- FOR MICROBIOLOGY, for the growth of lactobacilli, 500G; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	5	7,200.00	36,000.00
74	bottle	CHEMICAL REAGENT, MUELLER HINTON AGAR (500g) is for cultivation of Neisseria and for determination of susceptibility of microorganisms to antimicrobial agents. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	8,500.00	17,000.00
75	bottle	CHEMICAL REAGENT, MUELLER HINTON BROTH (500g) - is used to determine the susceptibility of bacteria to Sulphonamides by the tube dilution method. (Pack size is 500G);	2	8,700.00	17,400.00
		sub-total:			252,700.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

EUGENHOV. CRUZ 6/16/14

DR/ARNOLD E. VELA

Very truly yours,

Authorized Official

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

ALOBS No.: 02- 206441-204-0 - 320

Amount:

679. 702. N

**Budget Officer** No.: TSU-PRO-SF-09

Revision No. 03

JASPER A. YAUDER, CPA

Effectivity Date : August 24, 2020

Page 4 of 12



DELIVERY DUE DATE: 2 7 DEC 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Type of Business:

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

TIN#:

Manufacturing

Date:

10/1/2024

007-556-435-000 VAT Reg.

Mode of Procurement:

**Public Bidding** 

Tel. No.: <u>0917-542-0422</u>

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	ivery:		Payment'	Term:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
79	bottle	Balance Forwarded: Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)  CHEMICAL REAGENT, NUTRIENT AGAR (500g)-agar used for the cultivation of less fastidious microorganisms can be enriched with blood or other biological fluids. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	4	7,000.00	<b>252,700.00</b> 28,000.00
80	bottle	CHEMICAL REAGENT, NUTRIENT BROTH (500g) - a sterility testing medium for aerobes in accordance with IP. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	6,500.00	13,000.00
81	bottle	CHEMICAL REAGENT, Orcinol, 25g reagent grade w/ MSDS (2024) shelf life should be at least 3 years upon delivery	1	3,500.00	3,500.00
	-	sub-total:			297,200.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

ARNOLD E. VELASCO

President hthorized Official

CHEMLINE SCIENTIFIC CORPORATION

EUGENIO V. CRUZ

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

ALOBS No.: 62. Wayuf worf no - 379

Amount:

Very truly yours

JASPER A. YAUDER, CPA **Budget Officer** 

Effectivity Date : August 24, 2020

Page 5 of 12

No.: TSU-PRO-SF-09

Revision No. 03



Procurement Unit

Tel. No.: 045-606-8142/606-8157

DELIVERY DUE DATE: 2 7 DEC 2024

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Tel. No.:

0917-542-0422

Mode of Procurement:

**Public Bidding** 

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	ivery:		Payment'	Term:	N/15
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
		Balance Forwarded:			297,200.00
86	bottle	CHEMICAL REAGENT, PETROLEUM ETHER-4L,	7	3,486.00	24,402.00
		with MSDS and 3-5 years expiry (2024)			
87	bottle	CHEMICAL REAGENT, pH 10 calibration buffer	11	1,800.00	19,800.00
		solution 500mL with MSDS (2024) shelf life			
		should be at least 3 years upon delivery			
88	bottle	CHEMICAL REAGENT, pH 4.01 calibration buffer	13	1,600.00	20,800.00
		solution 500ml with MSDS shelf life should be at			
0.4	, ,	least 3 years upon delivery			
91	bottle	CHEMICAL REAGENT, pH Electrode storage	2	4,880.00	9,760.00
100	1	solution 500ml with MSDS (2024)			
102	bottle	CHEMICAL REAGENT, Salicylic acid, 100g	2	2,250.00	4,500.00
		reagent grade w/MSDS shelf life should be at			
105	la a t t l a	least 3 years upon delivery		200	
105	bottle	CHEMICAL REAGENT, Silver nitrate, 10gram	1	8,200.00	8,200.00
		reagent grade w/MSDS shelf life should be at			
		least 3 years upon delivery			
		sub-total:			384,662.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

Conforme:

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A YAUDER, CPA

**Budget Officer** 

ALOBS No. : 02-106441 204-10 3737

Amount:

679. toz. W

ARNOLD E. VELASCO President 2

Authorized Officia

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date: August 24, 2020

Page 6 of 12



DELIVERY DUE DATE: 2 7 DEC 2024

**Procurement Unit** 

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Tel. No.:

Mode of Procurement:

Public Bidding

0917-542-0422

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of De	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Del	ivery:		Payment'		<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
108	bottle	Balance Forwarded: CHEMICAL REAGENT, SODIUM CHLORIDE technical grade; 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	4	580.00	<b>384,662.00</b> 2,320.00
109	bottle	CHEMICAL REAGENT, SODIUM HYDROXIDE pellets; technical grade; 500g per battle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	880.00	1,760.00
110	bottle	CHEMICAL REAGENT, Sodium Hydroxide, 1kg, reagent grade with MSDS (2024) shelf life should be at least 3 years upon delivery	3	1,600.00	4,800.00
111	bottle	CHEMICAL REAGENT, Sodium iodide, 100g reagent grade w/MSDS shelf life should be at least 3 years upon delivery	2	3,650.00	7,300.00
114	bottle	CHEMICAL REAGENT, Sucrose - 500g with MSDS and 3-5 years expiry (2024)	2	1,200.00	2,400.00
		sub-total:			403,242.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

Budget Officer

Very truly yours,

ALOBS No.: 02: Wester my no mag

Amount:

President

thorized Officia

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date : August 24, 2020

Page 7 of 12





**DELIVERY DUE DATE:** 

2 7 DEC 2024

**Procurement Unit** 

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Tel. No.:

Mode of Procurement:

Public Bidding

0917-542-0422

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	ivery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	very:		Payment '	Гегт:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
115	bottle	Balance Forwarded: CHEMICAL REAGENT, Sulfanilic acid, 100g reagent grade w/MSDS (2024) shelf life should be at least 3 years upon delivery	1	2,500.00	<b>403,242.00</b> 2,500.00
130	bottle	GRAM STAIN KITS AND REAGENTS, contains one 250ml bottle of each of the following: gram crystal violet solution, gram safranin solution, gram decolorizer solution and gram iodine solution (stabilized) shelf life should be at least 3 years upon delivery	2	4,200.00	8,400.00
133	bottle	MRS AGAR, (De Man, Rogosa, Sharpe)- FOR MICROBIOLOGY, for the growth of lactobacilli, 500G; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	4	7,200.00	28,800.00
135	bottle	MUELLER HINTON AGAR, (500g) is for cultivation of Neisseria and for determination of susceptibility of microorganisms to antimicrobial	4	8,500.00	34,000.00
		sub-total:			476,942.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Very truly yours,

President 2 Authorized Official

Conforme:

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

JASPER A. YAUDER, CPA

Revision No. 03

**Budget Officer** 

ALOBS No.: 62-106441-1024-11 mmx

Amount:

Effectivity Date : August 24, 2020

679. ADZ. N

Page 8 of 12





#### **DELIVERY DUE DATE:**

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Date:

10/1/2024

TIN#:

Manufacturing

Tel. No.:

007-556-435-000 VAT Reg. 0917-542-0422

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	very:		Payment Term:		N/15
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
136	bottle	Balance Forwarded: agents. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)  MUELLER HINTON BROTH, (500g) is used to determine the susceptibility of bacteria to Sulphonamides by the tube dilution method. (Pack size is 500G), Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)  NUTRIENT AGAR, (500g) agar used for the cultivation of less fastidious microorganisms can be enriched with blood or other biological fluids. (Pack size is 500G), Provide SDS of the chemical	3	8,700.00 7,000.00	<b>476,942.00</b> 34,800.00 21,000.00
		and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase.  After sales provision on certificate of extension of expiry date. (2024)			
		sub-total:			532,742.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

EUGENIO X-CRUZ 70/11/14

DR. ARNOLD E. VELAS President 😕

orized Official

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

Very truly yours,

ALOBS No.: 02. Welly wy 10 . 5247

Amount:

**Budget Officer** 

Revision No. 03

Effectivity Date : August 24, 2020

Page 9 of 12



DELIVERY DUE DATE: 2 7 DEC 2024

Procurement Unit

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

Address: #28 Law St., Victoria Subd., Brgy, Sauyo Novaliches, Quezon City

Type of Business: TIN#:

Manufacturing 007-556-435-000 VAT Reg.

Tel. No.: 0917-542-0422 PR No.:

2024-04-186

PO No .: Date:

2024-609 10/1/2024

Mode of Procurement:

Public Bidding

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	livery:	TARLAC STATE UNIVERSITY	Delivery T	'erm:	60 calendar days
Date of Deli	very:		Payment '	Term:	<u>N/15</u>
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
138	bottle	<b>Balance Forwarded: NUTRIENT BROTH,</b> (500g) - a sterility testing medium for aerobes in accordance with IP. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	3	6,500.00	<b>532,742.00</b> 19,500.00
141	bottle	POTATO DEXTROSE AGAR, (500g) - Agar used for the isolation and enumeration of yeasts and moulds from dairy and other food products. (Pack size is 500G); Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	3	5,400.00	16,200.00
142	bottle	POTATO DEXTROSE BROTH, (500g) - is for cultivation and enumeration of yeasts and moulds., Provide SDS of the chemical and certificate of analysis. Shelf life should be sub-total:	3	5,570.00	16,710.00
		Sub-total:			585,152.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

President 2

WAithorized Official

Very truly yours,

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A YAUDER, CPA

**Budget Officer** 

ALOBS No.: 12. May 1. Jour 10-3297

Amount: 679, 702. W

No.: TSU-PRO-SF-09

Revision No. 03

EUGENION. CRUZ 10/16/29

Effectivity Date : August 24, 2020 | Page 10 of 12





DELIVERY DUE DATE: 2 7 DEC 2024

**Procurement Unit** 

Tel. No.: 045-606-8142/606-8157

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Tel. No.: 0917-542-0422

Mode of Procurement:

**Public Bidding** 

Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of Del	ivery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Delivery: Pay		Payment Term:		<u>N/15</u>	
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
144	bottle	Balance Forwarded: at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)  SABOURAUD DEXTROSE AGAR, (500g) - Agar used for the cultivation of yeasts, moulds and aciduric microorganisms. (Pack size is 500G) (2024) shelf life should be at least 3 years upon delivery		4,500.00	<b>585,152.00</b> 4,500.00
145	bottle	SABOURAUD DEXTROSE BROTH, (500g) (Sabouraud Liquid Medium), (500 g(2024) shelf life should be at least 3 years upon delivery	1	4,500.00	4,500.00
147	bottle	<b>SODIUM CHLORIDE,</b> - technical grade; 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	2	600.00	1,200.00
		sub-total:			595,352.00

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

JASPER A YAUDER, CPA **Budget Officer** 

ALOBS No.: 02- 2044/-204-10-3297

DR. ARNOLD E. VELASCO President rized Official

Amount:

No.: TSU-PRO-SF-09

Revision No. 03

Effectivity Date : August 24, 2020 Page 11 of 12

Very truly yours,







Procurement Unit

Tel. No.: 045-606-8142/606-8157

**DELIVERY DUE DATE:** 

2 7 DEC 2024

Supplier: CHEMLINE SCIENTIFIC CORPORATION

PR No.:

2024-04-186

Address: #28 Law St., Victoria Subd., Brgy. Sauyo Novaliches, Quezon City

PO No.:

2024-609

Type of Business:

Manufacturing

Date:

10/1/2024

TIN#:

007-556-435-000 VAT Reg.

Mode of Procurement:

**Public Bidding** 

Tel. No.:

0917-542-0422

#### Gentlemen:

Please furnish this office the following articles subject to the terms and conditions contained herein:

Place of De	livery:	TARLAC STATE UNIVERSITY	Delivery T	erm:	60 calendar days
Date of Deli	Date of Delivery: Payment Term:		<u>N/15</u>		
Item No.	Unit	Description	Quantity	Unit Cost	Total Cost
148	bottle	Balance Forwarded: SODIUM HYDROXIDE, pellets, technical grade; 500g per bottle; Provide SDS of the chemical and certificate of analysis. Shelf life should be at least 3 years or longer from date of purchase. After sales provision on certificate of extension of expiry date. (2024)	4	1,000.00	<b>595,352.00</b> 4,000.00
149	bottle	<b>SOLUTION,</b> Bile solution, Salts Mixture-100g with MSDS and 3-5 years expiry (2024)	2	35,000.00	70,000.00
152	bottle	TRYPTIC SOR AGAR, (500g) - Use with or without blood for the cultivation and isolation of a variety of organisms. Use for sterility testing. (500G) (2024) shelf life should be at least 3 years upon delivery	1	6,000.00	6,000.00
153	bottle	TRYPTIC SOY BROTH, (500g)- Conforms with USP & EP Specifications (2024) shelf life should be at least 3 years upon delivery  ***********************************	1	4,350.00	4,350.00 <u>679,702.00</u>

(Total Amount in Words) Six Hundred Seventy-Nine Thousand Seven Hundred Two Pesos Only

Warranty shall be for a period minimum of Three (3) months for expendable supplies, or a minimum period of one (1) Year for non-expendable supplies. In case of failure to make full delivery within the time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed

Conforme:

President

Authorized Official

CHEMLINE SCIENTIFIC CORPORATION

(Signature over printed name & date)

Bank Account Name:

Bank Account Number:

Bank Name:

Bank Address:

Funds Available:

No.: TSU-PRO-SF-09

ALOBS No.: 12-10-10-10-10-10-10-10-10-10-1

Amount:

Very truly yours,

JASPER A. YAUDER, CPA **Budget Officer** 

Revision No. 03

Effectivity Date : August 24, 2020 | Page 12 of 12